Topic A08: Marginal and Absorption Costing

Student Worksheet p.10

BAFS Elective Part – Accounting Module – Cost Accounting
Topic A08: Marginal and Absorption Costing
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Pattie, the owner of the Pattie Company is looking at the company’s manufacturing account and income statement for the month of June Year 8.  She asks her accountant what is meant by fixed and variable costs which she heard about from her friends.  She also asks the accountant to propose an alternative method to calculate the production cost and the unit product cost.

The Manufacturing Account and Income Statement of Pattie Company for the month ended 30 June Year 8 are as follows:
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Manufacturing Account for the month ended 30 June Year 8

	
	HK$
	HK$

	Raw Materials Consumed
	
	30,600

	Direct Wages
	
	20,800

	Direct Expenses – Royalty
	
	 5,000

	Prime/Direct Cost
	
	56,400

	
	
	

	Factory Overhead/Indirect Cost
	
	

	 Factory Manager Salary 
	9,000
	

	 Factory Management Fee
	500
	

	 Factory Rent and Rates
	7,000
	

	 Insurance – 
	Fire
	600
	

	           
	Labour
	1,800
	

	 Provision for Depreciation – Machinery
	 900
	19,800

	Production Cost of Goods Completed 
	
	76,200


[image: image13.png]



Income Statement for the month ended 30 June Year 8

	
	HK$
	HK$

	Sales
	
	191,475

	Less:
	Production Cost of Goods Sold
	
	

	
	 Finished Goods Opening Stock (57 units)
	1,710
	

	
	 Add: Production Cost of Goods Completed
	76,200
	

	
	
	77,910
	

	
	 Less: Finished Goods Closing Stock (44 units)
	1,320
	76,590

	Gross Profit
	
	114,885

	Less: Expenses
	
	

	 Bank Loan Interest
	750
	

	 Provision for Depreciation: Office Equipment
	250
	

	 Cleaning Expenses
	159
	

	 Salesmen’s Salaries
	12,643
	

	 Carriage Outwards
	195
	

	 Advertising
	190
	

	 Sales Commission
	445
	

	 Office Rent and Rates
	7,905
	22,537

	Net Profit
	
	92,348


You, as the accountant of the Pattie Company, decide to use the company’s spending to explain to Pattie about the characteristics of fixed and variable costs.  To facilitate the calculation of unit product cost, you also try to allocate the cost/expenses to production cost and non-production cost.


Identify the fixed, variable, production and non-production costs from the Pattie Company’s Manufacturing Account and Income Statement for the month ended 30 Year 8. The first example is given for reference.
	Fixed Cost
	Variable Cost
	Production Cost 
	Non-Production Cost

	
	Direct Materials
	Direct Materials
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	



Assuming 2,540 units of goods were produced by the Pattie Company for the month of June Year 8, the production cost for each unit would be:


You decide to recast the March Income Statement using Marginal Costing and present it to Pattie to show the major effects when this method is used.

(a) Suppose Marginal Costing system is used. Construct an Income Statement for the Pattie Company for the month ended 30 June Year 8.  (Assuming variable production cost for opening stock is $22/unit and the company uses First In-First Out method for stock valuation.)
Unit Selling Price 



= Sales Revenue ÷ No of units sold





  



=

=

Opening Stock Value (57 units) 
=









=


Variable Production Cost 

=





  



=

Closing Stock Value (44 units) 
=








=

Variable Non-production Cost 
=





  



=

Fixed Production Cost 


=





  



=

Fixed Non-production Cost 

=





  



=
Income Statement for the month ended 30 June Year 8

	
	HK$
	HK$

	Sales
	
	

	Less: Variable Production Cost of Goods Sold 
	
	

	Finished Goods Opening Stock
	
	

	Add: Variable Production Cost
	
	

	
	
	

	Less: Finished Goods Closing Stock
	
	

	
	
	

	Less: Variable non-production cost
	
	

	Contribution
	
	

	Less: Fixed cost
	
	

	 Production
	
	

	 Non-production
	
	

	Net profit
	
	


(b) Compare the Income Statement prepared in part (a) with that prepared under Absorption Costing.  State the major effects of using Marginal Costing and explain why this happened.

Hints: Differences of Absorption Costing and Marginal Costing and their impacts on inventory valuation and profit determination.
	
	Absorption Costing
	Marginal Costing

	Differences in the 2 costing systems
	(a) How are fixed production costs treated?
(b) If closing stock(, what will happen to part of the fixed production cost?
	(a) How are fixed production costs treated?
(b) If closing stock(, what will happen to the fixed production cost?

	Impact on
	Inventory valuation
	Higher / Lower closing stock value
(reason (a) above)
	Higher / Lower closing stock value
(reason (a) above)

	
	Income determination
	Higher / Lower profit
(reason (b) above)
	Higher / Lower profit
(reason (b) above)





Form a group of four or five.  Read the following case carefully and complete the tasks.

It’s the end of May and summer vacation is near. To gain practical experience and make some pocket money, you and your classmates come up with an idea to set up a cyber-firm to sell custom designed heat-transfer print T-shirts on Yahoo.
Today, you and your classmates hold an informal meeting at the school canteen to discuss and to work out a business plan.
After conducting market research and lengthy discussions, your group comes to the consensus that the project is a feasible and could be a go-ahead.

List the fixed and variable costs incurred in setting up a cyber-firm selling your own custom designed heat-transfer print T-shirts on the Internet:
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One of your classmates has the computer, laser printer and essential software to custom design and print images.  However, you are required to forecast the monthly business operating costs for further discussion on required initial capital.

Estimate the monthly running cost of the business (assuming 500 T-shirt will be produced per month) and complete the following table:
[image: image4.wmf]
A list of costs related to the operating the business is created up after the discussions. Your group would like to use cost-plus pricing to establish the selling price.  As you have learnt marginal and absorption costing in your previous studies, you decide to apply your knowledge to compute the unit cost.

(a) Classify the following cost items according to the characteristics of Marginal and Absorption costing systems and complete the table:

	Cost Items
	Details
	Cost Classification under

	
	
	 Fixed or Variable
	 Production or Non-production

	Service fee paid to Yahoo


	$400/month
	Fixed Cost
	Non-production cost

	Hire charges for 2 heat transfer machines 
	$1,500/ month
	
	

	T-shirt purchase cost
	$15/piece

	
	

	Transfer paper 
	$4/sheet

	
	

	Printing charges
	$3/sheet


	
	

	Packaging tools & materials 

	$2,000/ month
	
	

	Stationery expenses


	$300/month
	
	

	Advertising fee (a fixed amount charged by an advertising firm)
	$1,000/
month
	
	

	Transaction fee charged by Yahoo
 
	1.5% on sales 
	
	

	Delivery charges
	1% on sales 
	
	


(b) Assuming 500 units will be produced per month and the production overhead will be absorbed on unit basis, the production costs for each unit will be:
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The following table shows the sales forecast for the first three months of operations based on current market research data.  A mark up of 50% will be imposed on the unit product cost.
Forecasted sales for the first three months of operation (in units):

	
	1st month
	2nd month
	3rd month

	Sales
	500
	400
	550

	Closing stock
	-
	100
	50



(a) Suppose absorption costing is adopted, construct a forecasted profit statement for the first three months of operations.
Unit Selling Price = 


 
x (1 + 50%)






=

	
	1st month
	2nd month
	3rd month
	Total

	
	HK$
	HK$
	HK$
	HK$

	Sales
	
	
	
	

	Less: Production cost of sales
	
	
	
	

	Opening stock
	
	
	
	

	Production cost
	
	
	
	

	Closing stock
	
	
	
	

	
	
	
	
	

	Gross profit
	
	
	
	

	Less: Non-production cost
	
	
	
	

	 Fixed
	
	
	
	

	 Variable
	
	
	
	

	Net profit
	
	
	
	


(b) Suppose marginal costing is adopted, construct a forecasted profit statement for the first three months of operations (using the selling price set under absorption costing).

	
	1st month
	2nd month
	3rd month
	Total

	
	HK$
	HK$
	HK$
	HK$

	Sales
	
	
	
	

	Less: Variable production cost of sales
	
	
	
	

	Opening stock
	
	
	
	

	Variable production cost
	
	
	
	

	Closing stock
	
	
	
	

	
	
	
	
	

	Variable non-production cost
	
	
	
	

	
	
	
	
	

	Contribution
	
	
	
	

	Less: Fixed cost
	
	
	
	

	 Production
	
	
	
	

	 Non-production
	
	
	
	

	Net profit
	
	
	
	



Comparing the two profit statements prepared under absorption costing and marginal costing methods, some group members noticed that there is a difference in net profits for the 2nd and 3rd month.  They would like to choose the method which is more logical.

(a) Suggest two reasons for the difference in net profits for the 2nd and 3rd month of sales.
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(b) According to the market research, more T-shirts will be sold in the summer months.  If so, which method is more useful when sales fluctuate from month to month because of seasonal variations in sales demand?  Why?
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Bullet Manufacturing Company is engaged in the manufacturing and wholesaling of sneakers.  A net profit of $30,400 and a loss of $68,800 were reported by the chief accountant, James, for the month of June and July respectively in the executive meeting in early August.  The following is the dialogue between the Marketing Manager, Philip and the Chief Accountant, James:
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It was at this point that the Managing Director, Alice stepped into the conversation and requested James to recast the June and July profit statements using Marginal Costing for presentation in the next meeting.

During the next meeting, James presented the recasted profit statements which showed a loss of $105,600 in June and a profit of $13,200 in July.  Philip gleefully remarked that Marginal Costing method would better reflect the actual performance of his department.  James on the other hand insisted that Absorption Costing is a more appropriate method for management accounting purposes.  Alice has to decide which method is better.
Task:

Students are divided into two groups to debate on the topic “Bullet Manufacturing Company should adopt Marginal Costing instead of Absorption Costing in preparing the company’s profit reports”.
Write down the arguments of the proposition.

Arguments for the proposition:

	1.
	

	2.
	

	3.
	

	4.
	

	5.
	

	6.
	

	7.
	

	8.
	

	9.
	

	10.
	


Arguments against the proposition:

	1.
	

	2.
	

	3.
	

	4.
	

	5.
	

	6.
	

	7.
	

	8.
	

	9.
	

	10.
	



Which costing system would you choose? 

	
	Marginal  Costing
	Absorption Costing

	Short run decision-making 
	
	

	Long run decision-making 
	
	

	When sales is subject to high seasonal fluctuations
	
	

	Comparison of  performance of different departments/product lines
	
	

	External reporting
	
	



Read the hints and complete the puzzle.
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HORIZONTAL
1. Costing method which takes account of the variable cost of products rather than the full production cost is known as 



 costing.
2. Indirect expenses are collectively known as 




.
3. A cost which tends to vary with the level of activity is known as 



 costs.
4.  



 is the difference between sales and variable cost.

5. If absorbed overhead are less than actual overhead, it is known as 


 absorption.
6. When production is greater than sales in a given period, the net profit calculated under absorption costing is 



 than marginal costing.

7. When production is equal to sales, net profit calculated under absorption costing and marginal costing will be 




.
8. Under absorption costing, profit is a function of both sales and 

.
VERTICAL
1. Costing method which includes allocating all indirect production costs to products is known as 



 costing.

2. Those costs attributed to the unit of goods purchased/manufactured are known as 


 costs.

3. A cost which is incurred for a period and tends to be unaffected by fluctuations in the levels of activity in short term is known as 



 costs.
4. The closing inventory of one year is the 



 inventory of next year.

5. When production is less than sales in a given period, the net profit calculated under absorption costing is 



 than marginal costing.
6. Over the long run, both absorption and marginal costing will give the 

 net profit.

7. Profits calculated under marginal costing are a better indicator of the company’s 

 flow than absorption costing.
8. Marginal costing is widely used for managerial decision making and 


.









Activity 4: Crossword Puzzle





Activity 2: Case Study 





Philip, please note that we are using absorption costing in preparing the profit statements.  Due to employee vacation, the production in July was less than the standard volume which caused a larger fixed overhead to be absorbed in each unit.  Therefore, the profit for July is lower than June despite the increase in sales volume.

















Task 3: Income Statement








Total Production Cost:





	Unit Produced: 





	Unit Product Cost = Total Production Cost ÷ Unit Produced





					=





					= 					





Task 2: Cost Computation





Task 1: Cost Classification





Activity 1: Case Study 





I still don’t get it.  The unit cost should be the same for both months as we use the same amount of materials and labour per unit.  Therefore, if sales went up, so should profits.





It’s weird.  July’s sales had increased by more than 20% over June’s.  Yet, the profit was less.  I hope the accounting department can explain.





Task 1: Cost Classification





Fixed Costs:


												


												


												


												


												


												


												





Variable Costs:


												


												


												


												


												


												


												





Task 2: Cost Estimation





Cost Items:�
HK$�
�
Monthly service fee paid to Yahoo�
�
�
Hire charges for heat transfer machines (Assuming 2 machines will be hired)�
�
�
T-shirt purchase cost�
�
�
Transfer paper for laser printer �
�
�
Packaging tools and materials �
�
�
Printing charges (e.g. cartridge)�
�
�
Others:�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�






Task 3: Cost Computation





Under Marginal Costing:


Unit Product Cost = $


Show your workings below:


															


															


															


															


															


															


															


															





Under Absorption Costing:


Unit Product Cost = $


Show your workings below:


															


															


															


															


															


															


															


															





Task 4: Profit Computation

















Task 5: Method Selection





 Reasons:								


										


										


										


										


										


																																																		





 Method to be used:					


										


 Reasons:								


										


										


										


																																																		





Activity 3: Debate 















































 Major Effects:									


												


												


												


												


 Reasons:										


																																																												


												


												











Summary for lesson 2
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